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Convenient
Homework Enhancing
Assistance
Technology

By: Bradley Budach



Overview
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Capabilities
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Solve the equations.

1. Alex ate 10 pieces of chocolate. These 10 pieces

made up 1/3 of the chocolates he had. How many

chocolates did he have?

Edit Input:

Question:

Word Problems

Solve the equations.

1. Alex ate 10 pieces of chocolate. These 10
pieces

made up 1/3 of the chocolates he had. How
many

chocolates did he have?

Word Problems

Solve the equations.

1. Alex ate 10 pieces of chocolate. These 10
pieces

made up 1/3 of the chocolates he had. How
many|

chocolates did he have?

Answer:

Solution to problem #1: Alex had 30 pieces of
chocolate.

Next Problem

. Tumn these words into adverbs by adding the ly suffix.
a switt b gentle o hemvy T

d extreme o silent 1 clumsy

Choose one of these adverbial phrases to complete these sentences.
asquicklyas  over there very siowly all the time

a She ate dinner possible, as she was late for her piano lesson.
b He played hismusic when he was at home.

c “Scott, stand next to Susan and wait for your tum.”

d The old man crossed the road _____

8. Write whether these are phrases or clauses.

pand browncat

Re-take | ——

4A Bawmita thaca santances. usina the correct punctuation.

Edit Input:

7:

Turn these words into adverbs by adding the
ly suffix.

a swift

d extreme

b gentle

o silent

c heavy

f clumsy

Question:

7.

Turn these words into adverbs by adding the ly
suffix.

a swift

d extreme

b gentle

o silent

c heavy

f clumsy

Answer:

Solution to problem #7:
a. Swiftly

b. Gently

c. Heavily

d. Extremely

e. Silently

f. Clumsily

Next Problem



Demonstration

Word Problems

1) There are 35 students in a bus. 12 of them |
are girls. How many boys are there?
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Question:

Can You Solve This?
6+2(142) =

What

questions can
.
It answer?



Correct Responses Out of Ten
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Behind The
cenes S

body: data,
1)

CONST '|=|-r| = await response. jSI}ﬂ

setImageTth{]rﬂn ParsedResults|

st compl
model: "
prompt: et ~s to the following list of homework problems in the format: Solution to problem #: write your solution here. This is the problem you neec
max_tokens: 2
temperature:

var answer = completion.data.choices[@].text;
setAnswer(answer) ;
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The Future




Thanks For Listening!

= uses5tate ;
iewVisible] = .useState
jpturedImage | = .usestate ) 3
ageText| = useS5tate |
= usesState :

.requestCameraPermissionsAsync( ) ;

C.onvenient H.omeworkik.snhancing A:ssistance T.echnology




	Convenient Homework Enhancing Assistance Technology
	Recommended Citation

	Convenient Homework Enhancing Assistance Technology
	Overview
	Capabilities
	Demonstration
	What questions can it answer?
	Slide Number 6
	Behind The Scenes
	Challenges
	The Future
	Thanks For Listening!

